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Problem 1. The figure show the map of a nation which has 6 states. They are
considering coloring them with 5 colors. Supposed the states that have any same side
can't be colored the same, calculate the number of ways to color these 6 states.

Pay la ban d6 clia 1 nwéc ¢6 6 bang. Ho dinh diing 5 mau dé t6 mau ching. Biét rang
cac bang c6 cuing dwéong vién thi khdng dwoc c6 cung mau. Tim sé cach dé té mau 6
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Problem 2. Fill all empty squares using numbers 1 to 9 so the sum of each horizontal
block equals the clue on its left, and the sum of each vertical block equals the clue on its
top. In addition, no number may be used in the same block more than once.

E)len cac sb tiv 1 dén 9 vao cac 6 trong sao cho téng clia cac sb trong mébi khdi ngang
gdm cac o trang lien tlep bang chi sé & tam “giac vudng bén trai khéi va tbng cta cac sb
trong moi khbi  dirng gom cac 0 tréng lién tiép bang chi sé & tam giac vudng phia trén
khéi. Trong méi khdi, cac sb khong xuét hién qua mét 1an.
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Problem 3. Fill in the 9 x 9 grid so that each column, each row, and each of the nine
3 x 3 boxes (or regions) contains the digits from 1 to 9 only one time each.

Hay dién cac so tlr 1 dén 9 vao cac 6 trong trong bang 9 x 9 sau sao cho trén 9 hang, 9
c6t va 9 hinh vubéng 3 x 3 cac so tir 1 dén 9 xuat hién dung 1 lan.
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Problem 4. Determining the appropriate number next to the rule: 1, 8, 3, 4, 9, 2,?
X&c dinh sb tiép theo dé& phu hop quy luat: 1, 8, 3, 4, 9, 2, ?

Problem 5. A football coach your national team brings World cup 2014 squad consists
of 18 players including 3 goalkeeper, 5 defenders, 5 midfielders and 5 strikers. The
defender can play in flexible position defender and midfielder, while other players can
only play its proper position. Ask Coach can arrange many team including 1 goalkeeper,
4 defenders, 4 midfielders and strikers

M6t huén luyén vién béng da doi tuyén quéc gia ctia ban mang dén World cip 2014 doi
hinh gém c6 18 cau thti gém 3 thd mén, 5 hau vé, 5 tién vé va 5 tién dao. Céac trung vé
c6 thé choi linh hoat & vi tri hau vé va tién vé, trong khi cac cau tha khéc chi c6 thé choi
dang vi tri ctia minh. Héi Huan luyén vién c6 thé b tri dwoc bao nhiéu doéi hinh gébm 1
thG mon, 4 hau vé, 4 tién vé va tién dao

Problem 6. For the rectangle ABCD AB = 10. Draw two circles C1 and C2 diameter AB
and CD respectively. Call P and Q is the intersection of C1 and C2. Knowing the circle
diameter PQ with AB and CD exposure, consider an area highlighted part.

Cho ABCD la hinh ch@ nhat c6 AB = 10. V& hai dudng tron C1 va C2 c¢6 dwong kinh
twong trng 1a AB va CD. Goi P va Q la cac giao diém cta C1 va C2. Biét duwdng tron
dwong kinh PQ tiép xdc véi AB va CD, hay tinh dién tich phan Té dam.




